CHRISTMAS £

WORD PROBILEMS &4 2

Solve the following word problems.

Janice hangs 7 ornaments on the Christmas tree. Her brother Teddy
hangs 6 more. How many ornaments do the kids hang in all?

Leo receives 8 candy canes in his Christmas stocking. His brother Max

eats 3 of them. How many candy canes does Leo have left in his
stocking?

Marion opens all of her Christmas presents in 20 minutes. Her little sister

Tina opens all of hers in half an hour. Who opens all of her presents the
fastest?

Jason and Mark have the same amount of gifts under the Christmas tree.
They have 12 gifts in all. How many gifts does each boy haver

A second grade class visits a holiday store and 12 of the students buy red
decorations. The other 8 students buy green decorations. How many
students buy decorations in all?
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